Subject: array manipulation problem
Posted by Martin B. Schmidt on Wed, 07 Jun 2000 07:00:00 GMT

View Forum Message <> Reply to Message

Hi,
Given:

n=500
a=FItArr(n,n,n)

How can | assign
a[i,j,k] = in2+jr2+k~2  for all i,j,k (i,j,k=0,1,2,..,n-1)
without using any loop?

Any idea?

Martin

Page 1 of 1 ---- Cenerated from conp. |l ang.idl - pvwave archive


http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=usrinfo&id=3566
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=rview&th=11856&goto=20371#msg_20371
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=post&reply_to=20371
http://idlcoyote.com/comp.lang.idl-pvwave/index.php

